
APPROVED FOR PUBLICATION

DATESTATE DESIGN ENGINEER

Washington State Department of Transportation

STANDARD PLAN C-11b

SHEET 1 OF 2 SHEETS

REVISION BYDATE

CABLE BARRIER

TERMINAL

REV. FOUNDATION; REV. BOLT LENGTH FOR SLIP BASE.

NOTES

1.

2.

Stagger Spring Cable End assemblies for clearance between units.

Installation of cable end assemblies shall be as follows:

LENGTH OF CABLE RUNS:

 

3.

CABLE BARRIER TERMINAL PAY LIMIT
CABLE BARRIER PAY LIMIT

16’ - 0"

8’ - 0"

ELEVATION

PLAN VIEW

3
’ 

- 
4

"

1
’ 

- 
8

"

4’ - 4"

BOTTOM

CABLE
8 1/2"

PLAN VIEW

3
’ 

- 
6

"

S
E

E
 N

O
T

E
 2

6
"

SPRING CABLE END ASSEMBLIES

SEE NOTE 1

S
E

E
 T

A
B

L
E

3/4" HEAVY HEX NUT W/

PLAIN WASHERS (TYP.)

TOP CABLE

3
’ 

- 
4

"

INSTALL (8) 3/4" × 24"

HOOK BOLTS OR J-BOLTS,

W/ TOP 2" THREADED
ELEVATION

1
 1

/2
"
 C

L
R

.
1

’ 
- 

6
"

1
’ 

- 
6

"

(2) #3 BARS

36" LONG (TYP.)

SEE BRACKET DETAIL

BREAKAWAY

ANCHOR ANGLE

1
 3

/4
"

T
Y

P
.

1 3/4"

TYP.

1
2

"

6
"

6"

12"

PLAN VIEW

POST SLIP BASE

ELEVATION

POST SLIP BASE

POST

SLIP

BASE

5"

2 1/2"

2
"

4
"

3/4"

TYP.

1
"
 T

Y
P

.

1
 1

/4
"

1
/2

"
 T

Y
P

.

3
/4

"
 T

Y
P

.

T
Y

P
.

KEEPER PLATE DETAIL

POST SLIP BASE DETAIL

30"

TABLE

27"

30"

S3 × 5.7 × 27 1/4"

S3 × 5.7 × 30 1/4"

S3 × 5.7 × 30 1/4"

3"

B

TOP OF FOOTING TO

TOP OF HIGHEST CABLE

A

TYPE 1

TYPE 2

TYPE 3

CABLE

BARRIER

C

BETWEEN

CABLES

SEE STANDARD PLAN C-11a FOR POST SPACING
Up to 500’ ~ Use the Spring Cable End Assembly on one end, and turnbuckle only on the 

other end of each cable.

Over 500’ to 2000’ ~ Use the Spring Cable End Assembly on each end of each cable.

Distance from tangent of barrier run to notch for top cable on breakaway anchor angle shall be 4’.

 

Where the cable is connected to a cable socket with a wedge type connector, one wire of the

wire rope shall be crimped over the base of the wedge to hold it firmly in place.

3/4"

5"

4
"

1
"

1
"

3/4"

9/16" DIAM.

HOLES (TYP.)

28 GAGE GALVANIZED

SHEET METAL

SLIP POST

DIMENSIONS

S3 × 5.7 POST 3/8" PLATE

A

1/2" PLATE

1/2" × 2" BOLT WITH NUT

AND THREE WASHERS (TYP.)

TORQUE TO 300 INCH-POUNDS

B (SEE TABLE)

1/4 

1/4 

2
" 

M
A

X
.

KEEPER PLATE

3/8" PLATE

3/8" PLATE

3/4" HEAVY HEX NUT W/

PLAIN WASHERS (TYP.)

3
 1

/2
"

2
 1

/2
"

1
/2

"
C

C

7/8"

2"

BRACKET DETAIL

1/4 

1/4 

13/16"T
Y

P.

45^
TYP.

2
"

1/2" PLATE

B (SEE TABLE)

CUT A SLOT TO MAKE

AN 1/8" THICK TAB

APPROX. 1" LONG,

BEND AROUND CABLE

4
’ 

- 
0

"

12 3/4"

10 1/4"

5’ - 0"

13 1/4"

4"

4
"

PRECAST FOOTING

2 1/2" CLR.

(TYP.)

(2) #3 BARS

#3 BARS (TYP.)

FOR RETROFIT SITUATIONS:

INSTALL (4) 3/4" DIAM. RESIN

BONDED ANCHORS WITH 8" MIN.

FOR NEW CONSTRUCTION:

INSTALL (4) 3/4" DIAM. HOOK BOLTS

OR J-BOLTS OR RESIN BONDED

ANCHORS W/ 8" MIN. EMBEDMENT,

CEMENT CONCRETE FOOTING ~

PRECAST SHOWN, SEE SHEET 2

FOR CAST-IN-PLACE

D
R

A
W

N
 B

Y
: 

 M
A

R
K

 S
U

JK
A

4 1/2"

4 1/2"

EMBEDMENT, THREAD TOP 2" MIN.

THREAD TOP 2" MIN.
04/2004 MS

COMMERCIAL CONCRETE

EXPIRES JULY 24,  2004

34042

R
IC

HA

RD
BA STOR W AL

IN
BST

AT
EOFWASHINGTON

REGISTERED

P
R
O
FESSIONAL ENGI

N
E
E
R

05-20-04Harold J. Peterfeso

N
O

T
E

: 
  

 T
H

IS
 P

L
A

N
 I

S
 N

O
T

 A
 L

E
G

A
L

 E
N

G
IN

E
E

R
IN

G
 D

O
C

U
M

E
N

T
 

B
U

T
 A

N
 E

L
E

C
T

R
O

N
IC

 D
U

P
L

IC
A

T
E

. 
 T

H
E

 O
R

IG
IN

A
L

, 
S

IG
N

E
D

 B
Y

 

T
H

E
 E

N
G

IN
E

E
R

 A
N

D
 A

P
P

R
O

V
E

D
 F

O
R

 P
U

B
L

IC
A

T
IO

N
, 

IS
 K

E
P

T
 O

N
 

F
IL

E
 A

T
 T

H
E

 W
A

S
H

IN
G

T
O

N
 S

T
A

T
E

 D
E

P
A

R
T

M
E

N
T

 O
F

 T
R

A
N

S
-

P
O

R
T

A
T

IO
N

. 
  
A

 C
O

P
Y

 M
A

Y
 B

E
 O

B
T

A
IN

E
D

 U
P

O
N

 R
E

Q
U

E
S

T
.



SHEET 2 OF 2 SHEETS

APPROVED FOR PUBLICATION

DATESTATE DESIGN ENGINEER

Washington State Department of Transportation

STANDARD PLAN C-11b

CABLE BARRIER

TERMINAL

0.203" R

(TYP.)

SPRING CABLE END ASSEMBLY

TURNBUCKLE ASSEMBLY

14"

3 1/2"3 1/2"3 1/2"3 1/2"

9
"

5
 1

/4
"

2
 1

/2
"

1
 1

/4
"

2" 1" 2"2" 2" 2"1" 1" 1"

1" DIAM.

HOLE (TYP.)

1
 1

/4
"

1"

3"

3
"

1
 1

/4
"

1
/2

"

3
 1

/2
"

1/2"

1 3/8"

3 3/4"

1 1/2"2 1/2"

5 1/4" 3 1/2"

1
"

2" 2" 2"1 1/2" 2 1/2"

1/4 
(TYP.)

PLAN VIEW

ELEVATION

BREAKAWAY ANCHOR ANGLE

SIDE VIEW

END GUSSET

1/2" PLATE

1/4" PLATE

1 1/2"

4"

45^

20^

4"

1/2" R

CABLE WEDGE

USE WITH ALL CABLE FITTINGS

0
.2

9
1
"

0
.5

1
2
"

0
.8

4
3
"

0
.4

3
7
"

0.125"
1.8"

3"

25"

7 3/4"

6 1/2"

GALVANIZED SPRING

WIRE  9/16" DIAM.

2 1/4" ~ RIGHT-HAND

THREAD

7" ~ RIGHT-HAND

THREADS

FLATTEN FOR

WRENCH

FLATTEN FOR

WRENCH

LEFT-HAND

THREAD

STANDARD TURNBUCKLE

12" TAKEUP

3
 3

/8
"

SPRING STOP

4 1/2" LONG

 3/4 " HEX NUT

3"

7" ~ RIGHT-HAND

THREADS

FLATTEN FOR

WRENCH

3"

FLATTEN FOR

WRENCH

STANDARD TURNBUCKLE

12" TAKEUP

1/2" PLATE

1/2" PLATE7" ~ LEFT-HAND

THREAD

7" ~ RIGHT-HAND

THREAD

CABLE END ASSEMBLY TO

BREAKAWAY ANCHOR ANGLE DETAIL

4
’ 

- 
0

"

2
’ 

- 
0

"

5’ - 0"

1’ - 5 1/4"

ALL  BENDS ARE 2" RADIUS

BOTTOM

CABLE
8 1/2"

1’ - 4 3/4"

PLAN VIEW

#3 HOOP

6"

4’ - 7"

3
’ 

- 
7

"

S
E

E
 T

A
B

L
E

3/4" HEAVY HEX NUT W/

PLAIN WASHERS (TYP.)
TOP CABLE

3
’ 

- 
4

"

1’ - 2 1/4"

INSTALL (8) 3/4" × 24"

HOOK BOLTS OR J-BOLTS,

W/ TOP 2" THREADED ELEVATION

1
 1

/2
"
 C

L
R

.
1

’ 
- 

6
"

1
’ 

- 
6

"

2 1/2" CLR.

(TYP.)

(2) #3 BARS

36" LONG (TYP.)

#3 HOOPS

POST

SLIP

BASE

A

CAST-IN-PLACE FOOTING

3/4" CABLE

CABLE END (CAST STEEL

OR MALLEABLE IRON)

3/16" BRASS WELDING ROD, 16" MIN. ~ BEND ONE

INCH AT EACH END, TO KEEP IN PLACE.  MUST BE

INSTALLED PRIOR TO TENSIONING THE CABLES.

TWO 3/4" HEX NUTS

PLAIN WASHER

13/16" I.D. × 2 1/2" O.D. × 0.165"

TWO PLAIN WASHERS

13/16" I.D. × 2" O.D. × 0.148"

18
"

1 
1/

4"

FLATTEN FOR WRENCH

3/4"

5/8"

BREAKAWAY ANCHOR ANGLE

D
R

A
W

N
 B

Y
: 

 M
A

R
K

 S
U

JK
A

INSIDE GUSSET

1/4" DIAM.

HOLE

SEE BRACKET DETAIL

BREAKAWAY

ANCHOR ANGLE

COMMERCIAL CONCRETE

EXPIRES JULY 24,  2004

34042

R
IC

HA

RD
BA STOR W AL

IN
BST

AT
EOFWASHINGTON

REGISTERED

P
R
O
FESSIONAL ENGI

N
E
E
R

05-20-04Harold J. Peterfeso

N
O

T
E

: 
  

 T
H

IS
 P

L
A

N
 I

S
 N

O
T

 A
 L

E
G

A
L

 E
N

G
IN

E
E

R
IN

G
 D

O
C

U
M

E
N

T
 

B
U

T
 A

N
 E

L
E

C
T

R
O

N
IC

 D
U

P
L

IC
A

T
E

. 
 T

H
E

 O
R

IG
IN

A
L

, 
S

IG
N

E
D

 B
Y

 

T
H

E
 E

N
G

IN
E

E
R

 A
N

D
 A

P
P

R
O

V
E

D
 F

O
R

 P
U

B
L

IC
A

T
IO

N
, 

IS
 K

E
P

T
 O

N
 

F
IL

E
 A

T
 T

H
E

 W
A

S
H

IN
G

T
O

N
 S

T
A

T
E

 D
E

P
A

R
T

M
E

N
T

 O
F

 T
R

A
N

S
-

P
O

R
T

A
T

IO
N

. 
  
A

 C
O

P
Y

 M
A

Y
 B

E
 O

B
T

A
IN

E
D

 U
P

O
N

 R
E

Q
U

E
S

T
.


